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AEWEHE No . 1

DEEM No.6
Sl = X Y
VT 83.282 84.939
V8 88.506 85.888
V41 89.190 86.012
V30 390.442 79.120
V31 98.697 80.620
V32 98.680 71.460
V2T 86.230 68.711
V25 84 .500 78.235
(=t 334.701990
mEE 167 .3509950 g 167.35 m
DEEH No. 7
Sl = X Y
V8 88.506 85.888
V9 87.954 88.926
V10 89.502 91.161
V11 92.540 91.713
V12 92.038 94.473
V33 99.275 95.788
A4 98.770 91.413
A5 98.721 90.735
AB 98.715 89.812
V31 98.697 80.620
V30 380.442 79.120
V41 89.190 86.012
=T 270.710666
mE 135.3553330 g 135.35 m’
DEEM No.8
pil = X Y
V13 91.769 95.954
V14 88.731 95.402
V15 86.496 96.949
V16 84.838 106.074
V35 100.796 108.974
V34 99.455 397.350
=2 321.464809
ik 160.7324045 g 160.73 m
DEEM No.S
pil = X Y
A25 88.068 119.637
Al 102.175 118.254
A2 101.300 112.465
A3 100.847 109.418
V35 100.796 108.974
V16 84.838 106.074
V1T 83.764 111.982
V36 87.642 112.687
(=t 346.706499
EE 173.3532495 g 173.35 o
AEEH No. 10
pil = X Y
V1T 83.764 111.982
V18 75.069 112.516
A20 75.870 125.572
A21 76.529 125.928
A35 78.336 125.691
A36 83.543 124.950
A37 83.911 124.898
A22 85.754 120.663
A23 86.452 120.092
A24 87.224 119.769
A25 88.068 119.637
V36 87.642 112.687
=T 293.755025
mE 146.8775125 g 146.87 o’

A = X Y

V1 64.708 105.403

V19 65.308 106.080

V39 66.136 105. 366

V40 68.110 107.623

V3 77.435 107.051

V4 79.615 105.115

\e) 80.785 98.679

V22 66.537 96.090

P7 66.417 96.763

=1 281.504798

L 140.7523930 i 140.75 m*
AREHE No .2

A = X Y

\e) 80.785 98.679

V6 82.665 88.334

V23 69.471 85.936

P4 68.580 91.001

P5 67.784 93.453

P6 66.667 95. 356

V22 66.537 96.0390

=1 287.070888

L] 143.5354440 AR 143.53 m*
DEEEM No.3

A = X Y

V6 82 .665 88.334

VT 83.282 84 .939

V25 84 .500 78.235

V24 70.169 75.631

P2 69.513 79.325

P3 70.140 82.132

V23 69.471 85.936

(=2 287.065018

mis 143.5325030 g 143.53 m*
AETH No . 4 (Hik )

A = X Y

var 86.230 68.711

V32 98.680 71.460

V43 98.679 71.024

V45 86.306 68.293

(=2 10.804921

mis 5.4024605 g 5.40 m*
AEEH No .4 (HM)

A = X Y

P1 70.710 72.588

V24 70.169 75.631

V25 84 .500 78.235

V2T 86.230 68.711

V45 86.306 68.293

Va4 81.201 67.165

V46 71.972 65.488

Hia 299.476512

mis 149. 7382560 g 149.73 m*
AETH No . 5 (HEAKAM)

A = X Y

AT 98.678 70.435

A8 81.316 66.602

Va4 81.201 67.165

V45 86.306 68.293

V43 98.679 71.024

Hia 20.521273

L 10.2606365 g 10.26 m*
DEEM No .5CHM)

A = X Y

A8 81.316 66.602

A9 83.723 54.824

Al0 74.248 52.680

V46 71.972 65.488

V44 81.201 67.165

Hia 244 .359356

L 122.1796780 AR 122.17 m*

DEEH No.11 BEK R
S8l = X Y Dl = X Y
V18 75.069 112.516 V12 32.038 94.473
V20 65.254 113.118 V13 91.769 95.954
V21 62.887 115.213 V34 99.455 97.350
P9 61.385 123.320 V33 99.275 95.788
ALT 62.213 123.363 e 22.825984
AL8 70.317 123.784 TiE 11.4129920 s 11.41
A1S 73.204 124.132
A20 75.870 125.572
e 284 .534927
i 142 . 2674635 o8 142 .26 B ok B it @ #E
11.41 m
DR T M I AE S S
J3I8%
1,641.28 m° pill X Y
V2 66.723 107.708
Vig 65.308 106.090
V39 66.136 105.366
B RRAM V40 68.110 107.623
Dl = X Y B 5.662413
Va9 71.897 65.907 L 2.8312065 il 2.83 nf
P1 70.710 72.588
V24 70.169 75.631
P2 69.513 79.325
P6 66.667 95.356
Vo2 66.537 96.090 NS = +
P7 66.417 96.763 J I BB ERK
V1 64.708 105.403 5 83 o
P8 64 .666 105.614
V21 62.887 115.213
P3 61.385 123.320
AL 60.609 123.280 FE %8 B AR
AL5 60.680 122.905 X@EH X @ f 14 REE®SE
Al 65.082 99.522 AETHEESE| 1,641.28 m
Al3 66.235 92.936 ER%ERMEE 60.01 m? 1, 730.24 m*
AL2 69.569 73.910 BE%EAES 14.71
ALl 73.353 52.452 Bk P m e 11.41
A10 74.248 52.680 e - A 2.83 m
e 120.037115
EE 60.0185575 g 60.01 m’ (ARRXITTE) (KEm#ESE) (FRFEEAM)
1,986.56 m* — 1,730.24 m = 256.32 nf
B B %R B M @\
o5 8 K B m &
60.01 m*
256.32 m’
BEREAM
S8l = X Y
P2 69.513 79.325
P3 70.140 82.132
V23 69.471 85.936
P4 68.580 91.001
P5 67.784 93.453
P6 66.667 95.356
e 29.437731
i 14.7188655 18 14.71 nf
H * % E B it @ #&
14.71 m
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